Flun 6126 quarnetwiss. Aecl Asyr: Beasn ON, Lasar OFF Flun 6126 quanetwise, ISba1 Asym: Baam ON, Lasar DFF
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Fun 6128 quanetwise, ISba2 Acym: Baam ON, Laser OFF Flun 6126 quanetwise, DSba1 Asym: Baam O, Lasar DFF
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Flun 6128 guanebwise, DSbg2 Asym: Baam ON, Lasar OFF Flun 128 quanetwise. Tap Fnger Atyri: Baarm OM, Lasar OFF
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TR e P T o PR e _ﬂr—ml Acc0 Asym (ppt): 2120.51 +/- 210.93
= USbg1 Asym (ppt): -17.20 +/- 7.36

USbg2 Asym (ppt): -16.90 +/- 5.12

DSbg1 Asym (ppt): -15.62 +/- 1.05

W le DSbg2 Asym (ppt): -15.84 +/- 0.97
e Emﬂuﬂle bt mﬂh o Top Finger Asym (ppt): -8.76 +/- 3.98

P P—— Side Finger Asym (ppt): -1.86 +/- 3.55
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Run 6128, quartetwise: USbg1 vs time
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Run 6126, guartetwize: vertFing vs time
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Run 6128, quartetwise: LUSbg2 vs time
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Run 6126, guartetwise: horizFing vs ima
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